
     

                                                                         
                                                                                    



                            

     

                                                                         
                                                                                    

Note: 
1) Exceed these limits to damage to the device. 
2) Exposure to absolute maximum rating conditions may affect device reliability. 
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*For each individual channel output
Test Conditions: Cin=0.1uF, Cout=10uF, TA=25 C, unless otherwise specified



     

                                                                         
                                                                                    



     

                                                                         
                                                                                    

1) To meet the minimum load current (>10mA) requirement, R1 is recommended to be 125ohm 
or lower. 
2) Using a bypass capacitor (CADJ) between the ADJ pin and ground can improve ripple rejection. This 
bypass capacitor prevents ripple from being amplified as the output voltage is increased. The 
impedance of CADJ should be less than R1 to prevent ripple from being amplified. As R1 is normally in 
the range of 100Ω~500Ω, the value of CADJ should satisfy this equation: 1/(2 fripple CADJ)<R1. 



             
                                                                                    



     

                                                                         
                                                                                    


